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Single Answer-type questions (1 to 25)

Mark in the answer-sheet to the right answer of all the following questions:

The element responsible for ‘itai itai’ disease is

(a) Mercury (b) Arsenic

Energy flow in ecosystem is

(a) One-directional (b) Two-directional

‘Loktak’ is a

(a) Mountain (b) River

The Silent Valley Movement was organised at
(a) Uttarakhand (b) Gujarat

Biodiversity hotspots region is India are
(a) 2 (b) 3

Agenda-21 was adopted in

(a) Rio-de-Jenerio (b) Stockholm

Ozone layer in atmosphere is present in

(a) Stratosphere (b) Troposphere

Which one of the following is not a renewable energy resource

(a) Geothermal energy (b) Solar energy

The maximum ammount of carbon is present in
(a) Anthracite coal (b) Bituminous coal

Which one of the following is not found in India?

(a) Lion (b) Leopard
Pollen grains causes
(a) Tuberculosis (b) Allergy

Earth Day is celebrated on

5th June (b) 22nd May

Green Bench in Kolkata High Court started in the year
(a) 1996 (b) 1997

(c)

(c)
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(c)
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25.

Public Liability Insurance Act was enacted in

(a) 1991 (b) 1992

(c)

1986

With increase in temperature of water the ammount of dissolved oxygen is

(a) decreases (b) increases

Chernobyl accident occured in

(a) 1986 (b) 1984

The day and night time acceptable noise limit in silence zone are

(a) 50 and 40 decibel (b) 55 and 45 decibel

‘Arabari’ region is related to one of the following:

(a) Van-Mahotsav (b) Thermal Power plant

‘The Fall of a Sparrow’ book was written by

(a) Rachel Carson (b) Salim Ali
‘POP’s is

(a) Promoting Ozone Protection

(b) Persistent Organic Polyaromatics

(c) Persistant Organic Pesticides

The word ‘Ramsar’ is related to one of the following:

(a) Forest (b) Wetland

The total analysis of a population is called

(a) Census (b) Sampling
Ozone hole was first noticed at

(a) Pensylvania (b) Caroline islands
Ecosystem diversity is

(a) a-diversity (b) PB-diversity

Jim Carbett National Park is located in

(a) Uttar Pradesh (b) Uttarakhand

(c)

(c)

(c)

(c)

(c)

(c)

(c)

(c)

remains the same

1969

65 and 70 decibel

Joint forest management

J. Lovelock

Grassland

Biotic Potential

Antartica

y-diversity

Madhya Pradesh
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Single/Multiple Answer-type questions (Q. Nos. 26-30)

Read the following passage carefully and darken the circle/circles
Corresponding to the correct statement/statements of the respective passage: 10x5=50

26. The total land area in the world has been estimated at about 148,429,000 sq. km. Of this land area Asia
covers nearly 30 per cent (44,579,000 sq. km.)—the highest in the world. Next comes Africa with land area
amounting to 30,065,000 sq. km. and 20 per cent of the total land area in the world. North America, South America,
Antarctica and Europe occupy 16.3, 8.9, 8.9 and 6.7 per cent land areas of the world. Australia holds the least
landmass in the world having 7,687,000 sq. km. area and 5.7 per cent of the total land surface of the world.

Statement 1 : The total land area in the world is 148,429,000 sq. km.
Statement 2 : 30% of total land area in the world covers Asia.

‘Statement 3 : 16.3% of total land area in the world covers Europe.

27. At present the average global temperature is about 15° Celsius. There has been an increase or decrease
in the temperature of the earth in the past. About 18000 years ago during the last ice-age when the amount of
carbon dioxide in the atmosphere was about 40 per cent less than the present amount the average global temperature
was about 5° Celsius less than the present temperature. About a billion years ago (i.e. the dinosaur age) the global
temperature was 4°-5°C higher than the present value. Actually the global temperature has increased by 0.5°C
to 1.5°C during the period from 1860 (pre-industrial period) to the current time. According to many scientists,
during the middle of the next century when the amount of carbon dioxide equivalent to all the green house gases
(from the point of view of the capacity of trapping heat) may be doubled, the global temperature may increase
by 1.5°C to 4.5°C on an average.

Statement 1 : At present the average global temperature of the Earth is 15°C.
Statement 2 : 18000 years ago the average global temperature of the Earth was 10°C.
Statement 3 : The global temperature has increased from 1.5°C to 2°C from 1860 to the current time.

28. All living species are composed of matter and over all the organisms require about 40 chemical elements
for life processes and growth. Those elements needed in large amounts are called the macronur_rients and t'hose:
require in trace amounts are known as micronutrients. The macronutrients belong to two groups—(i) tho‘se nutrients
constituting more than 1 per cent each of dry organic weight such as carbon, o?;ygen, hydrogen, nitrogen land
phosphorus (ii) those nutrients constituting 0.2 to 1 per cent of dry organic \Tzelght such as sulphur, chlorine,
potassium, sodium, calcium, magnesium, iron and copper. Micronutrients consn.tute less than 0.2 per cent 'of' dry
organic matter. But many micronutrients may not be present in all species—these include elements like aluminium,

boron, bromine, chromium, cobalt, fluorine, gallium, iodine, manganese, molybdenum, selenium, silicon, stror;llum,
’ ow of these nutrients in the ecosystem is cyclic and they are trans erred

tin, titanium, vanadium and zinc. The fl refore the

from one trophic level to the other and ultimately released in the ecosystem fo-r recycli.ng. This is the:(i i
cycle of chemical elements involving biological organisms and their geographical environment (atmosp!

lithosphere). Hence the cycle is referred as biogeochemical cycle.
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The biogeochemical cycles are of two types—(i) gaseous cycle and (ii) sedimentary cycle. The gaseous cycles
occur where the atmosphere constitutes the major reservoir of the elements that exist in gaseous state. Carbon,
nitrogen and oxygen cycles represent the gaseous biogeochemical cycles. On the other hand, the sedimentary cycles
are evidenced where the sediments in lithosphere constitute the major reservoir from which the elements are released
by the process of weathering. Of the different sedimentary cycles the sulphur and phosphorus cycles are of great
significance to the biosphere.

Statement 1 : Biogeochemical cycles are of two types.

Statement 2 : Micronutrients constitute less than 0.2 per cent of dry organic matter.

Statement 3 : Carbon cycle is a sedimentary cycle.

29. Persistent Organic Pollutants (POPs) are organic substances having a long life in the sense that these are
almost non-biodegradable or very slowly biodegradable. These are released into the environment mostly as a result
of various industrial and agricultural activities. It is now well established that these substances have highly toxic
effect on animal reproduction, growth and immunological functions and are generally carcinogenic. Among the
persistent organic pollutants are twelve chemical or chemical classes that include pol ychlorinated biphenyl (PCB),
polychlorinated dibenzo-dioxins (PCDD), polychlorinated dibenzofurans (PCDF), pesticides like, DDT, chlorandane,
heptachlor, hexachlorobenzene (HCB), hexachloro-cyclohexane (HCH), aldrin, dieldrin, etc., and polynuclear
aromatic hydrocarbons (PAH) like naphthalene, anthracene, pyrene, benzopyrene etc. Some of these pesticides are
either banned or of restricted use in developed countries.

Statement 1 : POPs have highly toxic effect on annmal reproduction, growth and immunologic functions.

Statement 2 : PCB is a persistent organic pollutant.

Statement 3 : POPs are organic substances that are easily biodegradable.

30. Environmental movements like Chipko have become historical landmarks because the ecological insights
and political and moral strengths of women have fueled them. It was a resurgence of woman power and ecological
concern in the Garhwal Himalayas interwoven in a mosaic of various factors. The issue was of planting trees and
planting ecologically appropriate trees. Women were protesting against replacement of mixed forests by the
commercially valuable pine, which was a major reason for increasing economical instability of the Himalayan
region and the growing economic deprivation of Garhwali women. Life-sustaining forestry was to give way to
life-destroying practices. The movement showed that devolution of environmental rights and obligations is the more

important aspect of environmental management.
Statement 1 : Chipko movement resulted in resurgence of women power.
Statement 2 : Chipko movement was organised in Garhwal Himalayas.

Statement 3 : The main issue of Chipko movement was not linked with planting ecologically appropriate
trees.
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